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N 2 0l & AF S E A A
20109 XZ 2 5 Leka|H AFD ~ MY
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MY SH(SYNSSA/AY - AE)
EXSAEY (Etel & e
SA B3 - MBAY - BES 0] & o I & o HDS2
ot 12,898,383 11,380,631 1,517,752
= 4,758,157 3,732,364 1,025,793
z 881,136 881,136 0
p 110,000 110,000 0
3 1,802,526 1,437,398 365, 128
= 5,346,564 5,219,733 126,831
NEXE SH(SYMSSA/AY - AE) 12,837,860 11,338,539 1,499,321
= 4,758,157 3,732,364 1,025,793
2 881,136 881, 136 0
p 110,000 110,000 0
= 1,802,526 1,437,398 365, 128
= 5,286,041 5,177,641 108,400
XA 6,326,814 6,326,814 0
= 2,813,379 2,813,379 0
= 881,136 881, 136 0
3 726,090 726,990 2900
= 1,906,209 1,905,309 900
MEMEOIS E4 840,000 840,000 0
= 588,000 588,000 0
= 75,100 76,000 900
= 176,900 176,000 900
401 AlEHIL 2O 590,000 590,000 0
= 428,000 428,000 0
= 48,100 49,000 900
= 113,900 113,000 900
01 A& 586,283 586,283 0
OBAN AL NS H3 H AL 586,283 586,283 0
—Jt0F OF® (Z424) 586,283,000 586,283 586,283 0
= 428,000 428,000 0
= 48,100 49,000 2900
= 110, 183 109,283 900
M2 ASK 1,015,578 715,578 300,000
= 254,009 254,009 0
= 370,924 170,924 200,000
= 390,645 290,645 100,000
AMSASTI2 668,000 368,000 300,000
= 109,000 109,000 0
= 329,500 129,500 200,000
= 229,500 129,500 100,000
402 QIR0 668,000 368,000 300,000
= 109,000 109,000 0
= 329,500 129,500 200,000
= 229,500 129,500 100,000
01 QIAXELE 668,000 368,000 300,000
OZHI B E A 300,000 0 300,000
—ARAR B GRS ALY
300,000,000 300,000 300,000
= 200,000 200,000




SN A D
T AN SH(sHLSa/IY - oHE)
Sl sz ASK (e &
SN -3 S2ARAH) - MFAY - BES Ol &t oH J| N Hlns2
| | = 100,000 0 100,000
METIR 2522 4,107,943 2,908,622 1,199,321
2 1,690,769 664,976 1,025,793
= 399,512 233,484 166,028
2 2,017,662 2,010,162 7,500
MBS ALY 1,829,987 1,322,487 7,500
206 M2H 65,159 57,659 7,500
01 M2 65, 159 57,659 7,500
OMrE2SMAAR Lotz 2 (50)
150,000 *50% 7.500 0 7,500
HHNSLH A 206,979 207,068 89
2 106,206 106,206 0
= 27,200 27,289 89
2 73,573 73,573 0
206 M2Hl 3.800 3,500 300
2 750 750 0
= 525 225 300
2 2,525 2,525 0
01 Ml 3.800 3,500 300
OZHIEZAIY 3.800 3,500 300
—OI SRS JIHS(20) 1,800,000 1,800 1,500 300
2 750 750 0
== 525 225 300
2 525 525 0
401 AlZHIL 2 HHI 81,498 82,537 1,039
2 41,268 41,268 0
= 9.779 10,818 ~1,039
2 30,451 30,451 0
01 Al&H 80,755 81,794 1,089
O2HI 2 X ArY 80,755 81,794 1,089
—AUSE Mol M2 AT (502)
80,755,000 80,755 81,794 1,039
= 41,268 41,268 0
= 9.779 10,818 1,039
2 29,708 29,708 0
405 XH&HE S| 8.650 8,000 650
2 4,000 4,000 0
== 1,850 1,200 650
2 2,800 2,800 0
01 MM SEFSH| 8.650 8,000 650
O2HI X ArY 8.650 8,000 650
—AUSTHEEY HZZTHE  8,650,0008 8.650 8,000 650
2 4,000 4,000 0
= 1,850 1,200 650
2 2,800 2,800 0
NI 1,297,205 105,295 1,191,910




> >

-~

-

>

(i

2ot
T S8 (sEHY S
Yt 2snel

M- F2 SR (3) - HIRAY - B e Abod o1& o =
= ,025,793 0 1,025,793
= 166,117 0 166, 117
i 105,295 105,295 0
401 Al HI YL SO 1,191,910 0 1,191,910
= 1,025,793 0 1,025,793
& 166, 117 0 166,117
01 Al&HI ,191,910 0 1,191,910
OIHIEZ ALY ,191,910 0 1,191,910

—7.16~7.18 22 FEHS AL (BIHA) (A
gaA) 1,191,910,000& 1,191,910 0 1,191,910
= 1,025,793 0 1,025,793
= 166,117 0 166, 117
FS (A D) (s> ol L4 E) 37,441 19,010 18,431
=S 37,441 19,010 18,431
L3zttet=s 37,441 19,010 18,431
802 B+et=zJ|Et 37,441 19,010 18,431
02 Al - SHIEXZ=EtE = 20,125 1,694 18,431
Q20098 & SHEME OF& 2tALOIE)

18,431,000& 18,431 0 18,431




